
 

 

 

ENGLISH QUIZ 

 

1. What of these is not a type of sentence? 
(A) Simple 
(B) Continuous 
(C) Compound 
(D) Complex 
ANSWER: B 

 
2. Tick the correct phrase in the sentence: 
Monica played at sunset. 

(A) Monica 

(B) Monica played 

(C) Played at sunset 

(D) At sunset 
ANSWER: D 

 
3. Pick out the clause in the following sentence: 
Neha played when evening came. 

(A) Neha played 

(B) Played when evening 

(C) When evening came 

(D) Evening came 

ANSWER: C 

  
4. A clause contains a subject and a predicate of its own. 

(A) True 

(B) False 

ANSWER: A 

 
5. The basic ferrule connector is also called _________  

(A) Groove connector 

(B) Beam connector 

(C) Multimode connector 

(D) Concentric sleeve connector 
ANSWER: D 



 

 

 
6. How many categories of fibre connectors exits? 

(A) 1 

(B) 3 

(C) 2 

(D) 4 

ANSWER: C 

   
7. What is the use of an index-matching material in the 
connector between the two jointed fibres? 

(A) To decrease the light transmission through the connections 

(B) To increase the light transmission through the connection. 

(C) To induce losses in the fibre 

(D) To make a fiber dispersive 

ANSWER: B 

 
8. Demountable fibre connectors are more difficult to achieve 
than optical fibre splices. 

(A) True 

(B) False 

ANSWER: A 

 
9. Which of these is an example of adversative coordinating 
conjunction? 

(A) He did not raise his hand and he did not raise his voice. 

(B) She was pretty, but she was dumb. 

(C) Hurry up, else you will lose. 

(D) You must have not studied hard, for the paper was easy. 
ANSWER: B 

 
10. She is going to look after the cat _______ I am away on 
holiday. 

(A) While 

(B) as 

(C) before 

(D) what 
ANSWER: A 


